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Note: Four possible answers A, B, C and D (o each question are given. Ihl chmce which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the

answer-book. Cutting or filling two or more circles will result in zero mark in that question,
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Which ordered pair satisfies satisfies the equation y = 2x?
(A) (1,2) (B) (2. 1) (€)(2.2) (D) (0. 1)
Distance between points (0, 0) and (1, 1) is: .
(A) 0 (B) | (€) 2 0 (i
Two lines can intersect only at one: -
(A) line (B) point (@) ray (D) equal
Medians of a triangle are:
(A) concurrent (B). equal (C) non-concurrent (D) congruent
Bisection means to divideinto cqual parts:
(A) 4 (B) 3 (C) 2 (D) “many
Symbel used for eongruent is:
(A)& (B) (C) D) =
Similar figures have area:
(A) same (B) congruent (C) different (D) non-congruent
A point equidistant from the end points of a line-segment is on its:
(A) bisector (B) right-bisector (C) perpendicular (D) median
o)
0 ‘ iscalled  matrix:
| J
(A) 10 (B) unit (C) scalar (D) singular
In /35 the radicand is:

: 1 A ;
(A) 3 (B) 3 (C) 35 (D) 33
logp - loggq =

ﬂ \ qu p |"E '
(A) I{)g[p} (B) log(p q) (€] Tan J0u¢ (D) IUEL 1)
3+48)-).
(A) T (B) 7 (C) | D) |
Factors of a’ - 4b* are:
A @ b).(atb)(a’+4b%) (B) (a babua’ 4b%)
(€) (a* 2b%).(a + 2b°) . (D) (a 2b)g’ + 2b°)
HC.E. of a¥+ b and a? - ab + b is:
(A) ath (B) a2 ab+b? (C) (a by D) o b
If the capacity "c" of an elevator is at most 1600 pounds then:
(A) ¢<1600 (B) ¢= 1600 (C) ¢< 1600 (D)
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